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QUESTION 1

What are appropriate methods for designing high availability and disaster recovery scenarios for the Blue Prism
Database? (Choose three.) 

A. SQL Always on Availability Groups 

B. Windows Clustering 

C. Replication 

D. Blue Prism Active Sync 

E. Connect an application server to 2 Database Instances in parallel 

Correct Answer: ABC 

 

QUESTION 2

Where can the key used by the Credential Manager be stored? 

A. The key is always stored in the database 

B. The key is always stored within the config file on the Application Server 

C. The key can either be stored in the database, in the config file on the Application Server, or in a separate securable
file on the Application Server 

D. The key is hard-coded and stored securely within the Application. It is subjected to obfuscation to ensure it\\'s
protection 

E. The key can only be stored in the database or in the config file on the Application Server 

Correct Answer: C 

 

QUESTION 3

When is virtualization of a dedicated Interactive Client System most appropriate? (Choose two.) 

A. Interactive Clients should never be virtualized 

B. For Process Development – it helps to ensure the Interactive Client has the same configuration as the virtualized
Runtime Resources 

C. Where the developers are geographically separate to the Blue Prism environment 

D. To ensure a high-latency connection between the Interactive Client and the Application Server 

E. Whenever runtime resources are virtualized 

Correct Answer: CD 
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QUESTION 4

Which of the following is TRUE, when referring to establishing a connection between a V6 Application Server and
Client? (Choose two.) 

A. One of the WCF connection modes should be used. .NET remoting is provided for legacy support purposes only. 

B. Either WCF or .NET remoting may be selected. It does not matter which is used. 

C. It is important to ensure that all Blue Prism clients are configured to use the same connection mode as the Blue
Prism Server that they are expected to connect to 

D. It is important to configure the Blue Prism certificate server prior to establishing a connection from a client 

Correct Answer: AD 

 

QUESTION 5

What security is applied to data that is encrypted by Credential Manager when stored? 

A. The credentials are managed by the Windows Credential store and the security applied is proprietary to Microsoft 

B. The credentials are encrypted by the Application Server for storage in the database using either 3DES or AES-256
and a user generated key 

C. The credentials are encrypted by the Application Server for storage in the database using either 3DES or AES-256
and a secure key hardcoded within the application 

D. Credential Management is handled using session variables and security is applied based on the process logic that is
defined. 

Correct Answer: B 

 

QUESTION 6

Within a PRODUCTION environment, which of the following tasks would an Interactive Client be used for? (Choose
four.) 

A. Developing automated processes 

B. Configuring Application models 

C. Creating packages using Release Manager 

D. Importing packages using Release Manager 

E. Assigning Processes to Runtime Resources 

F. Managing Active Queues 

G. Managing Schedules 
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Correct Answer: BEFG 

 

QUESTION 7

Which of the following statements are true, when considering a remote access technology and strategy for monitoring
and operation of the Blue Prism environment? (Choose three.) 

A. RDP is recommended as the default tool for remoting, as it is built into all Windows Operating systems 

B. RDP is not suitable for remoting of production runtime resources, as it is an intrusive technology and may interfere
with “in flight” process execution 

C. Consideration should be given to the security of the remoting tool and whether it can be integrated with SSO 

D. Remote Access to runtime resources should be limited to restrict access and visibility to data that may be used within
a process 

Correct Answer: BCD 

 

QUESTION 8

What must be considered before operating multiple Runtime Resources on a single Windows desktop? 

A. There are no conditions, only one Runtime Resource can be set to listen per Windows session. 

B. Each Runtime Resource must listen on a different port and the processes which run on the device must not impact
other processes on the same device. 

C. Each Runtime Resource must listen on the same port and the processes which run on the device must not impact
other processes on the same device. 

D. Each Runtime Resource must listen on a different port. 

Correct Answer: B 

 

QUESTION 9

What factors should be considered, when designing the virtualization strategy for a Blue Prism environment? 

A. Existing Data Center and Virtualization strategies 

B. Support of the components 

C. Desktop and Application Virtualization Strategies 

D. Availability 

E. All of the above 

Correct Answer: E 
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QUESTION 10

By default, what port does a Runtime Resource listen on? 

A. 8181 – but it is configurable 

B. 8199 – this is fixed and cannot be changed 

C. 443 

D. There is no default 

Correct Answer: A 
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